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Chapter I Day 1 (Sections 8.1 - 8.4) (Unit 4) 30 October 2019

1. Sketch Lewis dot structures for these molecules and add the ABE for each central atom.

(a) C2O2(Atoms arranged: O - C - C - O) (b) cH3NH2

(c) CH.CCH (the C atoms are arranged: C - C - C) (d) CH3COCH3 (the C atoms are arranged: C - C - C)

2. Add hybridization labels to every non-H atom in the above drawings.

3. What is the total number of o-bonds in each molecule? What is the total number of n-bonds in each molecule?

(a) C2O2

o-bonds and ¡r-bonds

(b) cH3NH2

o-bonds and ru-bonds

(c)CH.CCH

o-bonds and ¡r-bonds

(d)cH3cocH3

o-bonds and n-bonds

4. lndicate which atoms are the most electronegative with ð- by the atomic symbols

5. Which structure(s) has(have) the shortest and strongest carbon-carbon bond?

6. Which structure(s) has(have) a linear carbon center?

7. Which structures has(have) carbon centers with 120o angles?

Questions in final exam format (multiple choice)

8. What is the molecular geometry of CH3-?
A. T-shaped
B. tetrahedral
C. trigonal planar
D. trigonal pyramidal

9. What is the F-B-F bond angle in BF3?

A. less than 109.5'
B. 109.5'
c.120"
D. greater than 120'

10. The orbital hybridization on the central carbon
atom in CH3CCH is

A.sp B. sp2
C. sp3 D. sp4

11. A molecule with the formula XF3 where the

element X has the hybridization sp3. Which of the
following elements could be X?

A.C B.P C.B D.Si

Now try these problems from the book:
Section 8.1. (Shapes) Problems'. 1 - 4,38 - 56

(even)

Section 8.2 - 8.4. (Valence bond theory) Problems:
5 - 1 0, 30, 32,58 - 76 (even)
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